
















Consider Sy I t Z t 3 t 4 t 5 t 6 t

S 7 t 6 t 5 t 4 t 3 t Z t I

Add 257 8 t 8 t 8 t 8 t 8 t 8 t 8

25 7 8

S 7 8 28
Z

S oo 100 X 101 10100 5050
2 2

A.P a 1st term d common
difference

Term
1st a

2nd a td

3rd a Zd

4th a 3d
5th a old

heh a n 1 d

Su the sun of first n terms

Su a aid t at2d t a tch 2 d at n Dd

Sn 9th c A at a 2 d t t a d t a

2 Sn 2at n 1 d Zatch c dt t 2 at n Dd t Zatch D

Arithmetic Progressions APs



2 Sn h 2 at n 1 d

Sn 2 Za n Dd

Sometimes we consider the nth term
as the last term L

L a n 1 d

Sn Z a L

4th a t 3d 16
t a t Gd 25

3d 9
D 3

Sub in a t 3171 16
at 9 16
a 16 9
a 7

Sequence would be 7 O 13 16



Su Z 2 at n c d

Sio s ZG t 913
5 ai

205

ht term a t n 1 d

First find a and d

a 15 d 3

at n 1 d 4152

15 t 4 1 3 4152

n l s 4137

h I 4137 1379
3

n 1380



a 152 D 7

nth term a n 1 d

Require a n 1 d C O

152 n 1 7 co

152 7h 1 7 CO

159 C 7h
159 L h
7
h 72255
n i 23

23rd term is first negative term

a 10 d 5

Su Z za n Dd

2 2 at n Dd 250

h 20 t 5 n i 500

h 20 t 5h 5 S 500



n 15 5 n s 500

5h t 15h 500 SO

n t 3h 100 O

n 8.611 hill 611 O
il 6 8.6

h 8 6

h 9


